
Greek 101 Name:

AGE 02 02: Verb Worksheet

1. Conjugate εἰµί and φηµί (all numbers and persons, and the infinitive) in the present, indica-
tive, active.

εἰµί

Singular Plural

1st person

2nd person

3rd person

Present Active Infinitive:

φηµί

Singular Plural

1st person

2nd person

3rd person

Present Active Infinitive:



2. Fill in the blank:

a. The verb stem of εἰµί is ________________.

b. The verb stem of φηµί is ____________ in the singular, ____________ in the plural.

c. The Trouble with Sigma: Which four forms of εἰµί begin with εἰ- and not ἐσ-:

____________________________

____________________________

____________________________ 

____________________________

d. In these situations, _______ effectively replaced the _______ of the verb stem, and the ἐ

became εἰ. This process is called ____________________________. 

e. The verbs εἰµί and φηµί are accented as enclitics in all persons and number except which

person and number? ______________


